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Name: ( ) Date: 2 May 2005
Class: Primary 6 { ) Duration: Th 45min
Parent's signature: Marks: - /100
Section A (30 x 2 marks)

For each question 1 to 30, four oplions are given. One of the four opfions is
the correct answer. Select the commecl answer and shade Ns comresponding
oval (1, 2, 3, 4) on the Optical Answer Sheet.

1.  Which part of the digestive system absorbs water only?

(1) gullet

(2) stomach

{3) smallintestine
(4) large intestine

2. Which of the following is/are function(s) of a skeleton?

(A) 1t supports the body.

{B) It gives the body shape.

(C) It provides spaces for the organs inside the body.

{D) 1t protects important organs inside the body from injury.

(E) It alfows muscles to attach themseives 1o enable the body to move.

(i) CandD only

(2) A.Band C only
(3) C.D ond E only
(4} A.B,D and E only



Which of the following happen when our ams are straightened?

Biceps
Biceps Ticeps |
(1) contract relax
(2) relax confract
(3) |  confact contract
Lungs
A ~c
Heort
B - D
Upper and lower parts of ]
the body |
Blood flow in the body
A 8 C (o}
(1) Jsrichin O, ‘rich in CO, nchin O, | richin CO,
(2) |richin O, rich in O, nichin CO.| richin CO,
(3) | richin O, Achin CO; nchin CO,{ rich in O,
(4) | fichin CO, nichin O, rich in CO.| rich in O,




5.  Aray of light falls on a miror. Which of the following diograms shows the
correct path taken by the reflected ray?

N F
o I

(2) *
(4) T

6. Four beakers A, B, C and D were filed with different substances. The
beakers were then left at room temperoture.

C_ D
rWEﬁ
=S

Coid wadler

Top waler

Ice ice ¢ salt

Which of the foliowing shows the temperature of the four substances
ranging from the highest to the iowest?

(1 A, B,C.D
(2) B, A, C.D
(3) D.C.B.A
(4) D.C,A.B



7.

What do the arrows A, B, C and D in the diagram reprasent?

(4
(2)
(3}
(4)

8.

The diagram below shows a green leaf.

A
——
<=,

Bj

sunlight

A B C D
glucose water oxygen carbon dioxide
water j glucose carbon dioxide oxygen
glucose water carbon dioxide oxygen
water glucose oxygen carbon dioxide

The equation below shows how plants raspire.

Glucose + Oxygen >Energy + Carbon dioxide + water

Which of the following best describe what happens during respiraton?

(A)
(8)
(C)
(D)

(1)
(2)
(3}
(4)

It takes place in the cell.
It iakes place in the dark.

Glucose and oxygen ore the products of respiration
Carbon dioxide and water are the waste products.

A and B only
A and D only
B and C only
C and D only




V9.

Box Y contains an unknown object. X and 7 are wires which are
connected to the object in the box.

X
- 1 Y

z

Miranda joins wire X to A and i~ire Z to B and the buib lights up.
\\ //

However, when she joins wire 1 o A and wire X to B, the bulb did not light

up.

Lael

Which of the following oblects could be in the box?

o= —

Atuminium foil

(1)

——

battery
(3)

O

Penci lead
(2)

(4)



V" 10. Which of the following are comectly classified according to ther ouler

body covering?
___scales feathers shell hair
() E frog platypus turtie porcupine
2y | snail whale afigator shark
(3) dolphin bat terropin sea llon
(4) | tortoise penguin crab, pangoling

11.  Study the classification chart below corefully.

Living Things,

_1

Respond to change
from day to nigit

Do not respond to change

from day to night

Sunflower

Owd

Rain tree

Q_ﬁ'idC&«eFid\

Which living thing above has been grouped wrongly?

(1) Sunflower

(2) Rain tree

(3) Owl

(4) Blind Cave Fish



v12. Animals can be ckssified based on the segments on the body as
shown below.

Animals
[ — ]
NO segments on the body Segments on the body
i 1 |
Contracting ond Giding its body Confracting ond Moving by
expanding the body in molion expanding fhe body fmbs
i

A 8 C D

Where should ‘python’ and ‘earthworm' be plaoced?

python earthworm
(1) A 8
(2) - A D
(3) 8 C
(4) H C D




V13. The table below shows how some objects have been classified based on
certain property of their materials.

——

Group X Group Y
Clear food wrap ron nails
Tracing Paper Steel plate
Frosted glass Copper wwe
L crystal J Porceiloin cup

Which of the following are suitable headings for the two groups?

L Group X Giroup Y
{1} Man-made materials Nafural materials
{2) Non-metals Metals
(3) Non-magnetic materials Magnetic materials
(4] Allow light to pass through Do not allow light to pass tHough

14,
solids
I 1
malieable bitte |
— I S .
l | 1 S
magnetic non-magnetic magnetic non-magnetic

| |

(1) (2)

Where should ‘copper’ be placed?

3) [ ()




15. The diagram below shows a dichotlomous key for plonts.

A Does it have roots?
8 Does it have seeds?
C Does it have flowers?

D Isitaland plant?

Yes-gotoB
No - then it i an aigae.

Yes-goto C
No-gotoD

Yes, then it s a mango free.
No, then it is a pine tree.

Yes, then it s a stag homn fern.
No, then it s ¢ waier moss fern.

Which of the following charts comrectly shows how plants are identified?

Pionts Plants
n 1 {21 ]
I L I ]
fs No ro0ois no roots
| | R T i
smeds no [~ 3 no E
r__[__‘ inwater‘ ; tond l'—_l_'l anlongd  inwater
WATER MOSS SIAG WAER MOSS  SIAG
no Rlowers  Aowers FERN HOBN no flowers  flowerns EERN HORN
MANGO  PINE TREE [53:]] CNETREE  MANGO EERN
TREE REE
Plonds Plants
(al 1 4 ]
I 1 M 1
ropts NO roots no roots
seeds no 3 nO seads sefds
I in woter on ond | n waer on iand
WATER MQS$ SIAG WADER MOSS SAG
0o flowers flowers  FERN % 0 Rowers fowers  FEpN HORN
BINEIREE MANGO e EERN




16. What forms of energy do three rotafing geors have?

17.

A: Heat energy

B: Electrical energy
C: Sound energy
D: Kinetic energy

(1) A only
(2) B only

(3} C and D only
{4) A. C and D only

Desiree touched a ping pong ball that was suspended from a retort
stand with a struck tuning fork.” The ball began to swing. The energy

changes were recorded.

C& Struck tuning fork

ping pong
bail

L

_1

Which of the following shows the corect energy changes that

she observed?

(1) Chemical energy-»Sound energy->Kinetic energy
(2) Potential energy->Kinetic energy->Chemical energy
(3) Kinefic energy-»Sound energy-rKinetic enargy

(4) Kinetic energy->Potential energy-dKinetic energy

10

70



- 18. Study the flowchart below carefully.

19.

Start Is a source of Has kinefic s
enerqy encrgy
Vo e
P Providesheat =3 o
and ight energy

—1va

What could represent ‘running water' and ‘the Sun'?

(*)
(2)
(3)
{4)

Running water

The Sun

0000

uluv RO

Four holes of the same size, A, B, C and D were made at different
levels on a tall can. Each hole was fitted with a cork. The can was
flled with water to the brim as shown below. ANl the corks were
removed at the same time and water shot out from the holes.

From which hole would the water shoot out the furthest from the con?

11

/7



V' 20. The diagram below shows a boll roling down a frack from P to Q.

At which point between P and Q. does the ball possess the least
amount of kinetic energy?

times

21. A basket bali was dropped from o height of 400 cm. It bounced a
number  of

as shown in the diagram below.

aam~

’
‘
. ) ]
(1 « ) [y
1
T \" T,

The height of its rebounds decreases. Which of the following is the
explanation?

(1) The kinetic energy of the basketball is greater than its potential
energy.

(2) The potential energy of the basketball was chonged to heat and
sound energy.

(3) The kinefic energy and the potential energy of the basketball
remain the same throughout the rebounds.

(4) Some of the kinetic energy of the basketball was converted 1o
sound and heat energy during the rebounds.

12

/2.



V' 22. A candie is burning in a well it room at night. Suddenly the lamps
were switched off. Which of the following can be infered from the

- 23

(1)
(2)

(4)

situation?

(1) Light-can be bent.
(2) Light travels in straight line.
(3) Light gives off heat energy.

(4) The buming candle is the source of light.

Friction

ui

Advantages

™

Which of the following examples below represent A and B?

B A

Brushing teeth

Sharpening pencils

Strumming a guitar

Erasing mistakes using an eraser

—

Swimming with o ftoat

|

Machine parts rubbing against one
another

@ Pushing a sofa across the room

Smoothening the wall with sand
paper |

13

73



24. The graph below shows how fhe length of o sprng changes when
different masses are hung on it.

>

{

3

107

9.}

wd ut Buyds jo yibusr
e

W0 20 30 40 50
Mass in g

What is the extension of the spring when a 40 g mass is hung on it?

{1} 15cm
(2) 17 ¢cm
{3) 20cm
(4) 22 cm

14

£



25.

Four identical nails were piaced on a piece of softwood as shown above.
Four weights, A, B, C and D were dropped onto eoch noll. The iength of
each nail that went into the soft wood was measwred.

Weight Length of nail went i incm
A 20
B 0.5
c 08 _
[ D 1.8

From the results of the experiment, which of the statements below is
cofrect?

(1) Weight Cis the lightest.

(2) Weight A is the heaviest.

(3) Weight A is lighter than weight D
(4) Weight B is heavier than weight C

15

/5



. 26. These imoginary planets are composed of similar matesials. The mass

of these plonets are proportionate 1o their sizes shown below.

OQOO

tatooine Naboo Coruscant

On which planet will a spaceship find it most difficult to take-off?

{1) Kowibon
(2) tatooine
(3) Naboo

(4) Coruscont

Direction of motion Directlion of motion

>
>
-
o

The diagram above shows two identical blocks of the same material
pushed olong the same surface. Block B8 travelled a shorter distance.
Which of the following is/are possible explanation(s) for that?

A: Block B was heavier than Block A
B: A layer of oil was spread below Block A.
C: A greater force was vsed to push Block A.

(1) A only

(2} C only

(3) 8 and C only
(4) A, Band C only

16
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28.Eigin and lJia Cheng plkayed a game on Q@ pin ball machine. The
drawing below shows how the pin ball was released. When the
stretched striker was released, the pin ball moved forward. Jia Cheng's
pin ball moved further than Elgin's.

o e o
s § 8

Oxiginal position of siretchad Posiion of swiker
striker strker ofter relaose

What caused Jia Cheng's pin ball to move further than Eigin’s?

(1) Eigin's spring had more kinetic energy.

{2) Eigin's spring was shorter than Jia Cheng's.

(3) Jia Cheng's spring was more elastic than Eigin’s.
(4) Jia Cheng's spring had more potential energy.-

17



29. Which of the following shows the direction of friction achng on the
ball in motion?

) @ (X
of of

< Y
. »

Friction <= Ficton

motion
(3, @
of
moia)
F]ﬁon

<30. Two bars, X and Y, of the same diometer and length were wrapped

tightly with paper as shown betow. Each bar was healed over a
flame for the same duration of time.

The paper on bar X was scorched but the paper on bar Y was not.
Wwhat materials are X and Y most likely to be made of?

X Y
(1) Iron Wwood
(2) | Wwood Copper
(3) Wood Glass
(4) copper iron
18
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Name: _ ( }
Class: Primary 6 ( )

Section B (40 marks)

Wilte your answers for quesiions 31 fo 44 In the spaces provided.

31. Fillin the blanks in the table below. (3 marks)

Pholosyripesls

Respiralion

aj ldentify the energy source.

b} Identify the organisms,

c] Identify the gases produced.

32. Compiete the table below to show the differences between inhaled and
exhgled air in a human body. 2 of the differences ore already described.

List another 2 differences in the table below. (2 morks)

Inhaled ar Exhaied air
more oxygen less oxygen
less carbon diowide - movre carbon diodide
19



33. Study the skeletal system below.

(a} Name the parts labelled A and B. Describe one function of eoch part in
the table given below. (2 marks)

| Part Name _ Funciion

A L Lan

—

(o) Name the type of joint found at X. (1 mark)

20



34.

what is/are the force(s) acting on the stationary box? (2 marks)

35. You are given a metal rod. Describe the steps you would take to identify
the following characteristics of the metal rod.

{a) 1he metal rod is made of qWM material. {1mark)

(o) The metal rod ks made of a magnetic material. {Imark)

(c} The metalrodis a magnat. (1mark)

21

2/



346. Two empty tins, P and Q, of idenfical size, were put under the sun

together with a thermometer each as shown in the diagram beilow. One
fin is painted white ond the other block. The readings on the
thermometers were taken every 3 minutes and recorded in the table
below.

Time in min o [ 369 [12]15]
ThermometerreadingintinPin°C | 25 | 27 | 30 | 32 | 34 | 35
ThermometerreadingintinQin°C | 25 | 26 | 28

{a) FAllin the blanks with ‘Black' or ‘white’ (1 mark]

‘_ Tin | Colour paipted

e

(b) Put a tick (V) In the toble below if the statement is ‘True’, ‘False’ or
‘Not possible to teli'. (2 marks)

True | False Not
possible to
tell

[i) Tin P has gained heat from Tin Q.

i} The black pagint has produced heat for
the air in Tin Q.

i) Tin Q has absorbed more heat than tin
P in 15 minute.

(V) The air in Tim P has gained more heat
than the oir in tin Q.

22



37. The table below shows how a soiution changes colour according to the
amount of carbon dioxide present.

| _Colour of solution | _Amount of carbon dioxide |
Red More carbon dioxide than in air
Yelkow Same amount of carbon
dioxide as in air
Green Lesser amount of carbon
dioxade than in air

Plant A

(a) If an iodine test is carried out. which plant will give a positive test? (1 mark)

—t.

{b) Explain your answer ior part (). (2 marks)

23



38. The diagram below shows a circuit with 4 metal rods connected to an
instrument that measures the amount of electricity in the circuit.

insirument that
meqasures the
amount of
elec tricity

Elzabeth closed switch 1 and kept the other switches open. She then
observed the reading on the instrument. She repeated the experiment
by closing switches 2, 3 and 4 in tun. She made sure only one switch was
closed at ony one time.

(a) List one possible aim of Elizabeth's experiment. (1 mark)

(b) State one varable that was kept the same for the experiment 1o be
a fair one. {1 mark)

24
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3%9. A group of living things A. B, C, D, E and F are dassified in the iable below.
Use the information in the table to onswer the questions.

Make their own food Find thek own food

Live in water Live on lond Live in water Live on land
A B C D
F E

(a) How is C simitar to D? (1mark)

(b) How is A similar to F? {1 mawk)

(c) How is B different from E? (1 mark)

25



40. Study the list of items below.

Mirror

Aluminium foil

Clear food wrap

Copper wire

Test tube

Tracing poper

One aollar coin

Sofety pin

(@) What property will you use to group the items such that there are 4 items
in each group? (1 mark)

(b) State another property you will use to re-group the items info 2 groups
such that there is 3 in one group, 5 in another group. (1 mark)

41. The circuit shown below was left closed to keep the bulb lighted up.
After some time, the bulb did not light up.

(a) Identify fhelsféurce of energy in the above diagram? (1 mark)

(b) What can you say about the source of energy over o pefiod of time?

(1 mark)

26



42. Study the diagrom beiow. When Yveft placed object Q near the
magnet, the ping pong ball was pushed off the table by the magnet,

balf

(a) Whatis object Q? (1 mark)

-,

(b) What must be done to object Q if it is to be brought near the magnet
without causing the ping pong ball to move? (1 mark)

43. Study the diagram below.

retort
stand

State two ways to make the wheel spin faster. (Use only the same set-up)

{2 marks)

i)




44, The lengths of a spring when different weights were placed on it are
recorded betow.

(a} Calcutate the extension of the spring. (1 mark)

F Massin g Lengthincm | Extergionin cm
0 10
10 12 .
20 14
30 16
40 18
50 2

(b) Plot a graph 1o show the extension of the spring. (2 marks)

W Ul UoISUSH3

v

M@ss in g

(c) From the graph, determine the extension of the spring when a mass of
35g is placearonit. {1 mark)

-



45.

Z

DN

wal Y

AN\

The diagram above shows a girl standing between 2 walls (x ond Y). A light
source is placed on wall X.

{Q) What woutd happen to the length of her shadow cast on the wall Y if she
walks towards the light source? (1 mark)

(o) What would happen to the length of her shaodow cast on the wall Y if she
walks towards the light source when the position of the ight source was
changed to Z? (1 mark)

29



446. The diagram below shows a magnet which pulls a paper clip up when
suspended above it.

magnet FI__—H‘J
Sheet of \ﬁ

paper ——=Z___7

o o=

sting

(a) The paper clip did not fail when a piece of paper is placed between it
and the magnet. Why? (1 mark) '

(b) What could happen to the paper clip if the piece of paper is replaced by
an iron sheet? (1 mark)

End of paper
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0l. 4 11. 3 21. 4
02. 4 12. 3 22. 4
03. 2 13. 4 23. 3
04. 3 14. 2 24. 1
0S. 2 15. 3 25. 2
06. (4) 16. 4 26. (3)
07. 2 17. (3) 27. 3)
08. (2) 1B. 3 28. (4)
09. 3 19. 4 29. 1
10, 4 20. 3 30. 2
31) a) sun food
b) plants plants, animals
c) oxygen carbon dioxide.
32) cool varm
Not so clean more clean
33) Skull It protects the brain
Ribcage It protects the hearts and lungs,

b) Hinge joint

34) Gravitationmal force and frictiomnal force.

35) a)

b)

c)

36) a)

b)

37) a)
b)

Place a magnet near the metal rod., If it is not
attracted to the metal rod, it is made of a
non-magnetic material.

Place a magnet near the metal rod. If it is attracted
to the metal rod, it is made of a magnetic material

Place a2 steel rod beside the metal rod. If the steel rod
is attracted to the metal rod, the metal rod is a magnet.

Black

White

</<[d

v
Plant C

Plant C is taking in carbon dioxide from the air to
make food which is starch. That is why there is less
carbon dioxide in the air. When there is a presence of
starch, iodine will change from brown to dark blue,
which gives a positive test.



38) a) To investigate whether differeat length of metal rods
will affect the amount of electricity flowing im a

circuit,

b) The thickness of the metal rods.
39) a) Both C and D find their own food.

b) Both A and F live in water.

c) B makes their own food while E finds their own food.
40) a) Whether they are metal or non-metal.

b) Metal and noa~metal.
41) a) Battery b) The chemical energy was used up.
42) a) Object Q is a magnet.

b) Object Q must be turned around so that the magnet
and Object Q are facing each other with unlike poles.

43) 1) Adjust the tap so that more water gushes out.
ii)Place the wheel further down the retort stand.

44) a) O
2

4

6
8

10
b)

c) 7 cm
4S) a) It will be bigger
b) Her shadow will become longer

46) a) The magnetic force was strong enough to pass through
the paper.

b) The paper clip would fall.

~—



